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1 Introduction

In RAN4 #68 meeting how to verify the measurement accuracy requirements for wideband RSRQ was discussed[1][2][3] and one way forward was approved in [4]. 
In this paper we present the detailed configurations for the corresponding test cases.
2 Testing configurations
For simplicity the following two cases are defined:
Case1: Ideal RSRQ value in subframe other than subframe # 0 (WB-RSRQ1) ,i.e. PBCH impacts are not included

Case2 : Ideal RSRQ value in subframe # 0 (WB-RSRQ0) and measurement is performed on OFDM symbol #7,i.e. PBCH impacts are included.
From the way forward, it is assumed that
M = 50, Es = -94dBm, Es/Iot1 = -3dB, Es/Iot2= 20dB

In the following the ideal RSRQ and Io values will be calculated.

Ideal RSRQ
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Fig.1 wideband RSRQ
Case1: Ideal RSRQ value in subframe other than subframe # 0 (WB-RSRQ1) ,i.e. PBCH impacts are not included
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Case2 : Ideal RSRQ value in subframe # 0 (WB-RSRQ0) and measurement is performed on OFDM symbol #7,i.e. PBCH impacts are included.
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Here M is the PRB number in the measurement bandwidth when wideband RSRQ is performed.
Assume M = 50, Es = -94dBm, Es/Iot1 = -3dB, Es/Iot2= 20dB, then
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Although the RSRQ difference between reference RSRQ and wideband RSRQ when PBCH is considered is less than 5dB, it should be noted that it is assumed that all the measurement samples are collected on OFDM symbol #7 of subframe 0. In typical UE implementation it is with large probability that samples from other symbols and subframes will be utilized for averaging.
Io calculation per RE
Case1:
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Case2:
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Then we got
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Other configurations:
The other testing configurations should follow the agreement in way forward [4]. The detailed descriptions can be found in our CR [5][6][7][8].
3 Conclusion

In this paper we give the discussion on the wideband RSRQ testing. To be specific the wideband RSRQ and Io calculations with and without PBCH impacts are given. The corresponding CRs are provided in [5][6][7][8].
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Wideband RSRQ ≤ (Reference RSRQ  - Y dB)


Where “reference RSRQ” is over 6 RBs and set by test equipment
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